2025 Booklist



Villanova College Coorparoo Year 9

EXAMS

Exam Pack- Required for examination periods.

Calculator as listed on the Booklist

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Clear Mesh Pouch A5 (260 x 200mm)	\$3.95	1	\$3.95		
Faber-Castell Textliner 46 ICE Superfluorescent Yellow	\$1.35	1	\$1.35		
Ballpoint Pen BLACK Staedtler Stick Medium	\$0.70	2	\$1.40		
Pencil 2B	\$0.50	2	\$1.00		
Ruler Plastic 15cm	\$0.69	1	\$0.69		
Sharpener Metal 1 Hole	\$0.55	1	\$0.55		
Faber-Castell Dust-Free Eraser White Large With Sleeve	\$0.75	1	\$0.75		
	Total		\$9.69		

List A

General Stationery to be shared between subjects

		Sp	pecified		Order
Product	Price	Qty	Amount	Qty	Your calc
Clear Mesh Pouch A5 (260 x 200mm)	\$3.95	1	\$3.95		
Coloured Pencils Micador Basics 12's	\$2.95	1	\$2.95		
Glue Stick Staedtler 35g	\$2.02	1	\$2.02		
Scissors QSV 165mm Right Handed Micador OR	\$1.79	1	\$1.79		
Scissors Left Handed Micador 165mm	\$2.90	1	\$2.90		
Protext A4 5 Subject Spiral 8 Pockets 250pg	\$6.37	1	\$6.37		
Ballpoint Pen BLACK Staedtler Stick Medium	\$0.70	2	\$1.40		
Ballpoint Pen BLUE Staedtler Stick Medium	\$0.70	2	\$1.40		
Ballpoint Pen RED Staedtler Stick Medium	\$0.70	2	\$1.40		
Pencil HB Staedtler Raw Single	\$0.50	2	\$1.00		
Ruler Plastic School 30cm Clear	\$0.62	1	\$0.62		
Sharpener Metal 1 Hole	\$0.55	1	\$0.55		
Eraser Micador Large 3020	\$0.39	1	\$0.39		
Headphones- Mconnected Earbuds with Mic and Case (3.5mm jack)	\$14.95	1	\$14.95		
	Total		\$41.69		

English

-		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (with margin)	\$1.42	2	\$2.84		
Writer Premium Exercise Book 96pg 225 x 175mm (with margin)	\$1.08	1	\$1.08		
Marbig Polypick F/C Document Wallet Assorted	\$1.55	1	\$1.55		
English Essentials Workbook 3 9781420246223	\$34.00	1	\$34.00		
	Total		\$39.47		

Religion

Students also require The Rite Journey - Guidebook.

This will be supplied at school and a charge of \$32.50 will be added to your school fees.

	Specified Ord		Order		
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (with margin)	\$1.42	1	\$1.42		
	Total		\$1.42		

HASS

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (with margin)	\$1.42	1	\$1.42		
	Total		\$1.42		

Health and Physical Education

	Specified		pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
	Total		\$1.65		

Mathematics

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 128 Pg (with margin)	\$1.91	2	\$3.82		
Calculator Scientific Casio FX100AU Plus II 2nd Edition	\$54.95	1	\$54.95		
	Total		\$58.77		

Science

	Specified		pecified	Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (with margin)	\$1.42	2	\$2.84		
	Total		\$2.84		

ELECTIVE SUBJECTS: Business

			pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (with margin)	\$1.42	1	\$1.42		
	Total		\$1.42		

Chinese

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Binder Book A4 96 Pg	\$1.65	1	\$1.65			
	Total		\$1.65			

Design Fundamentals

	_		Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Document Wallet A4 Button Clear	\$1.60	1	\$1.60		
Pencil 2B	\$0.50	1	\$0.50		
	Total		\$2.10		

Digital Fundamentals

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total		\$0.00		

Drama

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 48 Pg	\$0.96	1	\$0.96		
Manilla Folder F/C Blue	\$0.46	1	\$0.46		
	Total		\$1.42		

Engineering Fundamentals

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total	\$0.00			

Financial Literacy

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 64 Pg (with margin)	\$1.11	1	\$1.11		
	Total		\$1.11		

Food Studies

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total	\$0.00			

Geography

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 128 Pg (with margin)	\$1.91	1	\$1.91		
	Total	\$1.91			

		Specified O		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
	Total		\$1.65		

Mathematics Extension

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 128 Pg (with margin)	\$1.91	1	\$1.91		
	Total		\$1.91		

Media Arts

Students should bring Headphones from List A.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
Micro SDHC Card Class10 32GB	\$14.96	1	\$14.96		
	Total		\$16.61		

Music

Students should bring Headphones from List A.

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book 48 Pg 225x175mm	\$0.65	1	\$0.65		
Binder Book A4 96 Pg	\$1.65	2	\$3.30		
	Total		\$3.95		

Visual Art

* HB pencil, eraser, ruler, sharpener, scissors, glue stick, coloured pencils required from List A for this subject.

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Visual Arts Diary A4	\$6.47	1	\$6.47		
Pencil 2B	\$0.50	1	\$0.50		
	Total		\$6.97		

Workshop Fundamentals

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Pencil HB Staedtler Raw Single	\$0.50	2	\$1.00		
Eraser Micador Large 3020	\$0.39	1	\$0.39		
	Total		\$1.39		

Above prices include GST and are for pre-pack orders. Prices may vary in the retail store. A Tax Invoice will be included with your order.